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15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the candidates will read the question paper only and will not
write any answer on the answer-book during this period.
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General Instructions :
Read the following instructions carefully and follow them :
(i)  This question paper contains 37 questions. All questions are compulsory.

(ii) ngstion paper is divided into six sections — Section A, B, C, D, E
and F.

(iii) Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
guestion carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E - Questions no. 34 to 36 are Case /Source-based questions with three
sub-questions. Each question carries 4 marks.

(viii) Section F - Question no. 87 is Map skill-based question with two parts -
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in liew of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. Which one of the following languages is included in the Eighth Schedule
of the Indian Constitution ? 1
(A) Bhojpuri (B) Magadhi
(C) Rajasthani (D) Tamil
2. In which one of the following organs of India are women taking
advantage of reservation ? 1
(A)  Municipality (B) Legislative Council
(C) Rajya Sabha (D) Judiciary
I 32/3/1 Page 3 of 23 P.T.0. I
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8. Tr=fofes & @ at gafoa gm =1 ww fifve
(4) wEadi gt - R
(B) wHadiget - wiowamw
©) wwEdiEgE - R
(D) wHEdigEl - SR
4. F=fafes § @ S9-a1 w97 e oo =1 wefifs F@r € ?
(A)  HfETSH & 5 1 I TNt ¥ 7 % g & i 2
(B)  wfecimel &I 9 % HEl % difdd & |
(C) =i ot AT AR W & |
(D) 9 U Afeed =t T AT e F |
5.  9Rd i Ieig e § GUR 3G ToHifes qall ol Fetaiad § & HH-8 HE w0
ST ST e T @ 9 e S e o = i |
L ot aoiiforss ot & fore smae fred s i srfwemar € )
I 3= ot el o w-forers afee wet Y sifvawdar g |
L. 3 et aorftfes gt % forg wimefe Tm &t it srfardar €|
IV. € Yu-9 g aft Iafieari = =maned | = © Hil B SHER o
AT g |
ﬁm:
(A)  Had L I1RII e
(B) Faal, I IV &t g|
(C) Faa I, IRV T g
(D) =& 11, I11 3 IV &t §)
6. fmafafad ¥ & wH-a1 @ Hficier § agueTs § 7
(A)  afre-wmt (B) feigeft-vmt
(C) -t (D) sttt
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Choose the correctly matched pair from the following :
(A) Concurrent List - Education

(B) Concurrent List -
(C) Concurrent List —
(D)

Defence
Police
Concurrent List — Trade

Which of the following statements represent gender equality ?
(A}  The value of women’s vote is more than that of men.
(B) Restricting women to household chores.

(C)  Providing more rights to men.

(D)  Providing voting rights equally to men and women.

To reform the party system, which of the following tasks have been made

compulsory for the political parties ? Choose the most appropriate option.

L It is now compulsory for all the political parties to file income tax
returns.

II. It is now compulsory for all parties to have one-third women
candidates.

III. It is now compulsory for all the political parties to hold their
organisational election.

IV. It is now compulsory for all candidates to disclose information
about pending criminal cases against them through affidavit.

Options:

(A)  Only I, IT and III are correct.
(B) OnlyI, II and IV are correct.
(C) Only T, III and IV are correct.
(D) Only II, III and IV are correct.

Which of the following group is in majority in Sri Lanka ?

(A) Tamil-speakers (B) Sinhala-speakers
(C) Telugu-speakers (D)} English-speakers
Page 5 of 23
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1. 2 2w Ru o € | 3 feRE (A) o w0 (R)E 2T Fe I afel 1 7. Two statements are given below. They are Assertion (A) and Reason (R).
a2t e &1 59w e Read both the statements and choose the correct option : 1
YT (A) : WIE B Yo o & S ma;qmqaﬁmmm’lﬂf%l Assertion (A) : Every party in India has to register with the Election
) Commission.

: : - 21
FRO(R) ;oG 0o aeHifaE T ﬁm@ﬁﬁﬁu‘m Eaall Reason (R) : The Government provides election symbols to all political
Fraea parties in India.

A) (&) 3R (R) 3w & 3R (R), (A) w =men |

®) (A) IR (R) T EEE T R), (A) i w AN TH
(€ (A wéig, W (R) Mo

(D) (A) Tea e, T (R) &2

Options :

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)is true, but (R) 1s false.

(D) (A)is false, but (R) is true.

8. % uw el v 3 wam s Ry o | g artwet o A

% = Ry 7o w7 =1 3w f&Gfaw 1 8. Data related to an imaginary country is given below. Study these data
4 and answer the question that follows : 1
g FoI SHEETT | o IuRafd
e ———— - i 000 Age Total Population | Net Attendance
14 997 15 g9 ;m; 7 and 8 years of age 1200 1000
= 2 o 800 14 and 15 years of age 1000 800
o . 4200 Jo Total 2200 1800
= 1459l 1e Hﬂ%a‘rga'rfaﬂ saferfe st ————%’ The attendance percentage of this country of the age group of 14 and
(A) 90 wiawr (B) 80 whivta 15 years is .
(C) 70wl D) 60 wfrw@ (A) 90 percent (B) 80 percent
(C) 70 percent (D) 60 percent
9. frafufas fadivarsli & MR W &5 6 9eaH Fifg forpen
S i o e T 9. Identify the sector on basis of the following characteristics and choose the
; . 1 correct option : 1
g T & 1 I A A FEAT SR | . The objective of this sector is to earn profit.
. 34 8 1 W T AT a1 F F e A Fara | ) This sector is owned by a person or company.
. 2T A T LA 36 Eoieh 1 T[T 2 | . Tata Iron and Steel is a example of this sector.
forene Options:
(A) TEFHT &S (A) Cooperative Sector
(B) rnfed & (B) Unorganised Sector
(C) W &% (C)  Public Sector
(D) fft g (D)  Private Sector

I 32/3/1 Page 6 of 23 l I 32/3/1 Page 7 of 23 P.T.O. I
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10, S=TiE &% ¥ T ST @ e A @ 2 feffan T B qfeT i . 10. Why is it not easy to get loans from the formal sector ? Read the following
Wﬁm F1 997 Fifv reasons and choose the most appropriate option : 1
I i e I.  Availability of Banks
II.  SROMYR Y STeisear II.  Availability of Collateral
1. o it o=t u wifee wiskn III. Long and Complicated Loan Process
V. o i S IV. Awareness of Borrower
B Options :
(A) Fael 11 I G ¥ ®) Faa I, I A IV w e (A) Only I II and ITI are correct.  (B) Only II, IIl and IV are correct.
(C) Fael I SRIV méid) (D) Faa 1,11 ARV @dii] (C) Onlyl, IIand IV are correct. (D) Only L, Il and IV are correct.
11. w3 fw fod 51 5eee g e g e S ? 1 11. By which organization is the Human Development Report published ? 1
(A)  fvE SR ST (A) World Trade Organisation
B) T (B) Amnesty International

(C) United Nations Development Programme

(C) I Ty faemma S
(D) World Health Organisation

(D) fawa=redne

12. faum &t gg=m Hifvw | 1 12. Identify the odd one out. 7
(A) 1‘”6'«5&11?{ a;cqg{f{ ofue=s (A) Hindustan Computers Limited
(B) e e fafiee (B) Bharti Airtel Limited
(©) Tiomm afehe e (C) Hindustan Unilever Limited
> . (D) Bharat Heavy Electricals Limited
(D) vna et sefegEen fafies

13. fom wm #ir ofd ¥ foru wét fasew #1 = HifSw 13. Choose the correct option to fill in the blank : 1
T ET faReft sama @i e o TSt & g i ik Fama The process of removing barriers on foreign trade and investment by the
S Tt 8 1 government is known as .
fawea: Options :
(A) T (A)  Import Tax
(B) TR (B) Export Tax
© (C) Liberalisation
(D) iR

(D) Industrialisation

I 32/3/1 Page 8 of 23 l I 32/3/1 Page 9 of 23 P.T.O. I
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i 14. A9 @ o fow 1w ¥ | & R (A) 3k s (R E 1 @A Al @ i 3T 14. Two statements are given below. They are Assertion (A) and Reason (R).
‘t Te fowe @1 =mm it . . 3 1 Read both the statements and choose the correct option : 1
];‘E HFFYT (A) : S # Y vemy 3w §11Fﬁ T F TE A Rt Assertion (A) : Most of the jute industry in India is located in a narrow
! Rt belt along the banks of Hugli river.
| e N —— — Reason (R) : India is the second largest exporter of jute.
fwea: ) Options :
. : A) Both (A) and (R is the correct explanation
@) () iR (R) I FETE AN (R), (A) Rwd=EAt] @ B ) are true and (R) is the c P
®) (A 3 R®) AT, TG (R), (A) of et =T T < | (B)  Both (A) and (R) are true, but (R) is not the correct explanation of
(©) (A TEE, T (R) T2 » (A).
(D) (A) TR, TG (R) TR (C)  (A)is true, but (R) is false.
(D) (A is false, but (R) is true.
‘ 15, =9I En"[_l?i"q 11 % fyem s 3 ad fage & =27 Fifvw 1 15. Match Column I with Column IT and choose the correct option : 1
sl - i I.I Column I Column II
a  dERIEEfEr i IwEs a. Sariska Wildlife Sanctuary i. Uttarakhand
It b.  THw I fed i, TEH b. Manas Tiger Reserve ii. Rajasthan
I | c. dfEmam e iii. 3m@m ¢. Periyar Tiger Reserve iii. Assam
| ' R e T S iv. d. Corbett National Park iv. Kerala
il : , Options:
( (A)  a-i, bii, c-ii, d-iv (&) a-, b, c-iil, d-iv
,| (B)  a-ii, b-ii, c-iv, d-i (B)  a-ii, biiii, c-iv, d-i
l (C)  a-iv, b, cii, d-ii (©)  a-iv, b, ¢-iii, d-ii
| (D) a-ii, b-, c-iv, d-iii (D) a-ii, b, c-iv, d-iii
.'I; 16. fmet @ifmr, o9q qfEw * T, S % 7S I OATE F I W AT T 16. Mrs. Monica, along with her family, clears a piece of land and grows
1 F WA F U oW a oy @@ 'JHH%:I m 2| 9 wE A R ww grain and other food crops to feed her family. When the soil’s fertility
| ~ ‘ o R iece of land for agriculture. Which of
| S 2, o 9 T F ! ; decreases, she prepares another piece o gri
| Fr ; f—:;;gagﬁ‘; F 3::‘.; (g;ﬁ? :}m T IRIRR e LR the following methods of agriculture does she use ? 1
| (CA) Ty Y ‘ I (A) Plantation farming
1 (B) Qﬁr TEAF (B)  Slash and burn farming
i _
i (C) e Sifaa &y (C) Intensive subsistence farming
J (D) rforfsaref i (D) Commercial farming

i
I I 32/3/1 Page 10 of 23 I I 82/3/1 Page 11 of 23 P.T.0, I
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17. Wioedl YRt ¥ I90< 3§ fra st & e 3 ST T A9 # 1 17. 'The germs of which disease paved the way for Europe’s conquest of
i e fwar 2 America in the later half of the sixteenth century ? 1
(A) & (A) Cholera
(B) === (B) Smallpox
(C) iferm (C) Jaundi
ce
(D) waf@Er
(D) Malaria
18. f » o fenerehr
aﬁﬁm‘aﬁ*—‘:ﬁ & dof # qeER W favd a"‘ﬁ # et Frafafed L p 18. In reference to the Germania allegory the “olive branch around the
Sefieh off 7 sword” symbolizes which one of the following ? 1
(A) 7=l e (A) Being freed
(B) E@gﬁ A ofer $ir (B) Heroism and strength
(C) wfaFr=EHr (C)  Willingness to make peace
(D) T T AT (D) Beginning of a new era
19. Frfafas # O g gomeToTs F1 g8y S 1 L L. 1 19. Which among the following newspapers is related to Bal Gangadhar
Aa) fewm Tilak ? 1
L2 (A) Hindustan
(B) i qfeRT (B) Bangla Patrika
©) =y (C) Veer Bhoomi
(D) (D) Kesari
™ . s ad - 20. ?ﬁ'range the fo.llovjrmg historical events in chronological order and choose
L IETShHIFHIL = rafeer i ferehed e correct option : I
o Fife 1 I.  Bardoli Satyagraha
L Swde aenE ' &

II.  Rowlatt Satyagraha
III. Champaran Satyagraha

II. Joeadms

III.  =9RY s
V. TeTaag IV. Kheda Satyagraha

Options;
Ay LILILIV
(B) ULILILIV

e ;
(A) I, I, 11, IV
(B)y IILIL LIV

© ILIIV,II (© 1L 1,1V, III
(D) LIV, ILI (D) 1L IV, IL,1
I 32/3/1 Page 12 of 23 I I 32/3/1 Page 13 of 23 P.T.O. I
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ECpcRcH
(311%[ H?;ﬁ'ﬂa %) (4x2=8)
21, WA R v fove g8 & el & snfils st 1 seorg | 2
29, T ¥ e i w B WY ¥ et R & e ) el 2
23, (%) = gar i f 3 e # aviw i | 2
FreraT
(@) = ger i fedt D Pivwaedt &1 @i Hif | 2
24, 1947 — 1991 ¥ TT 4N WER 3 Frieh sR w feh fiw i =
e 2 T iR 2
@US T
(F-STRIT T97) (5%3=15)
25. (%) AT waFar 594 W ni-Re wwed F e @ e A | 3
HAAT
(@) wRdr U e § steer AR o afie @ faveww fivg L 3
26. S @ wRlew 3 w@ amfd B fRw wen el fer g 7w
it | 3
27. dFa frE YR U IaEr, fHaEr iR Q9 see i TET S R 7 S
it | 3
28, e FH W e w # wide fod S meeet st fomr g e
T FYA F AETT 32T | " 3
29, %3 WEHN I TS TWHA & A T I seary WG wfoa it gham =ma
21" I I Afed 39 Fo F faweraor i | 3
eLcd)
(Ef]ﬁ—?.?fvﬁ'd‘ﬂ'?'-l') (4x5=20)
30. (%) “Ofsd T F T GES & @l T IETTed € A | dered waed &
T 3 ISR o HIEAW & JH Ho hl ST HifwC | 5
Ferar
(@) ‘oFedl el 6, = F Rl GEH % For-Fer § DR & geure
oft fafererar o€ 1 Serewil wfed 39 FuA A =rE AR | 5
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
Mention any two economic impacts of the First World War on India. 2
Explain the effectiveness of vertical distribution of ‘power sharing’ in the
context of India. 2
(a}  Describe any two features of ‘arid soils’. 2
OR
(b)  Describe any two features of ‘forest soils’. 2
Why did the Indian Government restrict foreign trade and foreign
investment between 1947 — 1991 ? Explain. 2
SECTION C
(Short Answer Type Questions) (5%3=15)
(a)  Analyse the impacts of Gandhi-Irwin pact on the Indian freedom
struggle. 3
OR
(b)  Analyse the role of Alluri Sitaram Raju in the Indian National
Movement. 3
How have industrialisation and urbanisation impacted water supply ?
Explain. 3
How does democracy establish an accountable, responsible and legitimate
governance ? Explain. 3
“Reserve Bank of India plays a crucial role in regulating the Indian
banks.” Justify the statement. 3
“Sharing of power between the Union Government and the State
Governments is basic to the structure of the Indian Constitution.”
Analyse the statement with suitable arguments. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a) “Not everyone welcomed the printed book.” Explain the statement
with examples from sixteenth century Europe. 5

OR

“By the seventeenth century, the flourishing of urban culture in
China also led to diversity in the use of printing.” Explain the
statement with examples. 5

P.T.O. I
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(%) mm%ﬁ%%ﬁﬁwﬁ@rﬁﬁgysgﬂﬁmﬁﬁm
§ | T ) O W o ST g gEse s i & fa A A
SeraT
(@) WA SR o o W E | ST W § S e S 9 €
¥t Rt o T ceR T aut iR S T A s A B

#

5

e g St T T % 2 S Sarees s awt & A fafee | 3+2=5

(F) - oifrdem Wi wReE R e @ 2 weE A At 5
JremET
(@) ow i Afirer G ST T e A O ST FAR | 5
(F) ordoyaedn ¥ gdwE @ Fet 9w § e afed of| T e 5
areraT
(@) W SR e e e F e § ) i sififea O % G o
oM FA-Y e 3 foed andior & F FafiE A s A g
F9 F A Eh ? 5
feLEE
(SFEaETA-TTTRE W) (3x4=12)
f2q o dig 1 afew o e A i e we % S i
EREa]

1815 % o1 & I61 # T % WT ¥ I IIRAT-UZATA i ftrTd L
fearr | srga a T Tt F it B i 23 o e @ e we
& fou T WIeT IW AT | I@ TR HifER B F AASS I ToAE
sraersl & fRY F § o S g wim & ar et fi S of | e @
e ik gft % fo wfieg 2 sl ad s shifaer B9 & forg sl o |
ﬁ@mmﬂaﬁﬁmﬁm%mmaﬁraﬁaﬁﬁw

o
(84.1) Semaeat 1 et T Terfifees T 1 Seer HifT | 1
(34.2) FUF T § 1T WIS 3 35 F FHE ] B Jewid HIfTT | 1
(34.3) 1815 % 18 3F ITRAEI-TANET & T T F Fron F1 Rreeror

it | 2
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(a) The Government of India has invited some suggestions‘ for
institutional reforms in agriculture. Propose any five institutional
reforms to the Government for the betterment of agriculture. 5
OR
(b)  Suppose you are a farmer. You want to cultivate rice in India.
Describe any three geographical conditions which will be suitable
for rice cultivation in India and write the names of two leading rice
producing states of India. 3+2=5
(@) “Secularism is the very idea of Indian Constitution.” Justify the
statement. 5
OR
(b)  Suggest any five measures to establish the gender equality of
labour. 5
(a) Distinguish between public and private sector of economy with
examples. 5
OR
(b) Suppose you are the Sarpanch of your village. What suggestions
will you give for creating additional employment in the village, so
that the problem of unemployment of the residents of rural areas
can be reduced ? 5
SECTION E
(Case/Source-Based Questions) (3x4=12)
Read the given source and answer the questions that follow :
The Revolutionaries
During the years following 1815, the fear of repression drove many
liberal-nationalists underground. Secret societies sprang up in many
European states to train revolutionaries and spread their ideas. To be
revolutionary at this time meant a commitment to oppose monarchical
forms that had been established after the Vienna Congress, and to fight
for liberty and freedom. Most of these revolutionaries also saw the
creation of nation-states as a necessary part of this struggle for freedom.
(34.1) Mention any one political demand of the liberals. 1
(34.2) Mention the main cause for the rise of secret societies in European
States. 1
(34.3) Analyse the reasons for many liberal-nationalists going
2

underground after 1815.
Page 17 of 23
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Ry = ol ik T AR fg g & AR
g JIawh .

Eﬁgmq&smﬁ@ﬁﬁ%aﬂnaﬂﬁmmﬁﬂa_%lwﬁ
e srrem 3¢ g s R &1 et 3 R 5 TR e ST
o & 1 ez s e ot v & for 70 SR SERT 3% SO
v o & 1 5o s e T @R 8, < g i PR w9 & I
£ | Yeree i e oA e s & R S W ST
@%.%@ﬁmﬁwmﬁmaﬁﬁsﬁwﬁ?ﬁ%(ﬁﬁm
soﬁsomﬁﬁwm%)na&zms-wﬁeﬁamtﬂwm
I (97%) 3t m,mﬁmﬁmjgmlﬁﬂm
(3%) 3= T=4T | g AT |
(35.1) frm Sig s & waits Qieiy AT Sare ?
(35.2) Tt Hewudl S wie 37 HA-418 7

(35.3) “Te I TF STHE G 2 1 39 e 1 g i)

fiu T g 1 utew o sES A9 Ry 1wy % W
Thtea g

ST ST A FW S ¥ | wied & § 3 Jad IET FR-SH
I # wel UwR $ svafy Frifia d @ off safe @i % ag gRfEa e
B ¥ | ¥ S TN TN UsiEd €9 € ol 3% went Pt o b
I FE1 T ¥ | W P w fafdt @ e flE S§ — s
srtvfem, ZHan Aegl fufaw, dErgen sfutem, g @ i sfufEm,
TeaTfe 1 Soor@ foRaT AT R | $0 TS & FEd © Fih qAh §6 Hdleh
whrad od SEfatat | 7 T am e $ g Feita 7 A afes 3
FH T A 8, T 3¢ off AGT B WER F THG GlFd T Qa3 3K
framt wg fafremt & STaem w6 8 2 |
(36.1) TTiEa & 1 F S9IMAT hi Fordt vk feiear 1 Ieorg i |

(36.2) dnfeq &F@ % HUATET H R 370 fer aer fF o o 5w
#Hife | v
(36.3) TE-USTII & 52 g A+fl AT 1 ACHTE o6 WHET SSiamtor s il amrarvarh & 2
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Read the given source and answer the questions that follow :
Iron Ore

Iron ore is the basic mineral and the backbone of industrial
development. India is endowed with fairly abundant resources of iron ore.
India is rich in good quality iron ores. Magnetite is the finest iron ore
with a very high content of iron up to 70 per cent. It has excellent
magnetic qualities, especially valuable in the electrical industry.
Hematite ore is the most important industrial iron ore in terms of the
quantity used, but has a slightly lower iron content than magnetite
(50 — 60 per cent). In 2018 — 19, almost the entire production of iron ore
(97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.
The remaining production (3%) was from other states.

(35.1) In which iron ore is the maximum iron content found ?
(35.2) Which is the most important industrial iron ore ?

(35.3) “Iron ore is a basic mineral.” Support the statement.

Read the given source and answer the questions that follow :

Organised Sector

Kanta works in the organised sector. Organised sector covers those
enterprises or places of work where the terms of employment are regular
and therefore, people have assured work. They are registered by the
government and have to follow its rules and regulations which are given
in various laws such as the Factories Act, Minimum Wages Act, Payment
of Gratuity Act, Shops and Establishments Act, etc. It is called Organised
Sector because it has some formal processes and procedures. Some of
these people may not be employed by anyone but may work on their own,
but they too have to register themselves with the government and follow
the rules and regulations.

(36.1) Mention any one feature of the working conditions of organised
sector.

(36.2) Explain any one benefit provided by the employers to the
organised sector employees.

(36.3) Why is it necessary for all self-employed people to register with the
government ?
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress was
held place in 1927.

B. The place where Mahatma Gandhi broke the Salt Law.

Note: The following questions are for the Visually Impair ed Candidates
only, in lieu of Q. No. 37 (a).

(@) () Name the place where the session of Indian National
Congress was held in 1927.

(ii) Name the place where Mahatma Gandhi broke the Salt Law. 2x1=2

(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i)  An international airport of West Bengal
(i) A software technology park of Karnataka
(i) A nuclear power plant located in Maharashtra
(iv) A major sea port of Odisha

Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (b).

(b) Attempt any three questions. 3x1=3
()  Name the place where an international airport is located in
West Bengal.
(i) Name the place where a software technology park is located
in Karnataka.
(iii) Name the place where a nuclear power plant is located in
Maharashtra.

(iv) Name the place where a major sea port is located in Odisha.
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